
 

 

 

  

 

    rupahd tpilapd; fPo; NfhbLf 

   01)   gpd;tUk; vz;k vz;fspy; vJ jrkk; 79 ,w;Fr; rkdhdJ? 

  1)1178   2)10178   3)7118   4)71108 
 

02) fzpdpapy; juTfisj; Njf;fp itg;gjw;F gpd;tUk; ve;j tbtikg;G  
gad;gLj;jg;gLfpd;wJ? 

  1) Jtpjk;  2) jrkk;  3) gjpdWkk;  4) vz;kk; 
 
   03) gpd;tUk; jrk vz;fspy; vJ Jtpjvz; 1101112 ,w;Fr; rktYthdJ 
  1)55   2)63   3)110   4)118 
 

04) gpd;tUtdtw;Ws; vJ 100011112 > 1708> 4668710>2F16  vDk; ehd;F vz;fisAk;  
VWtupirapy; tiff;Fwpf;fpd;wJ? 

  1) 1708 > 100011112>   2F16 ,      4668710  2) 1708>  100011112  ,4668710>   2F16 

  3) 2F16 >  1708   100011112,        4668710  4) 2F16 >   100011112  ,4668710>   1708  

 

   05)  jrk vz; 131 ,w;Fr; rktYg; ngWkhdk; 
  1)101100112  2)100000112  3)4710    4)768 
 

06)  mjpAau; Nfhg;G msitf; nfhz;Ls;sJ vJ? 
  1) 1 MB cila .doc Nfhg;G  2) 912 KB cila .gif Nfhg;G 
  3) 700 Byte cila .txt Nfhg;G  4) 1024 Byte cila .jpg Nfhg;G 
 
   07)  ASCII ,y; E vDk; tupAU 1000101 vdpd; B vd;gijf; Fwpg;gJ 
   1) 1000001  2) 1000010  3) 1000011  4) 1100101 
 
   08) RAM d; nfhs;ssT 4GB If; nfhz;Ls;sJ. mjw;Fr; rktYthd fzpdp   

epidtff; nfhs;ssT vJ?  
  1)4096 Bytes  2)4096KB  3)4096MB  4)4096TB 

 

   09)  vz; “11x” I fUJf. ,q;F x MdJ vz;Kiwikapd; mbahFk;. vz; “11x” 
gpd;tUk;  vz; Kiwikfspy; vjw;F cupaJ? 

 1)Jtpjk; 2)gjpdWkk;  3)vz;kk; 4) Jtpjk;/ gjpdWkk; / vz;kk;  
 

      10)   xU MB y; mlq;fpapUg;gJ 
  1) 26 KB  2) 220 Byte  3) 106 Byte  4) 220 Bit 

 

    11)    gjpdWk vz; ACE16 ,idg; gpujpepjpj;Jtg;gLj;Jtjw;F Njitahd Fiwe;jgl;r 
Bit  fspd;  vz;zpf;if 

  1) 3   2) 9   3)  11   4) 12 
  
  12)  gpd;tUk; $w;Wf;fspy; vit cz;ikahdit? 
 1)gpw;W vd;gJ fzpdp Kiwtopahf;fj;jf;f kpfr; rpwpa jfty; myfhFk;. 
 2)igw;;W vd;gJ fzpdp Kiwtopahf;fj;jf;f kpfr; rpwpa jfty; myfhFk;. 
 3)gpw;W vd;gJ 8igw;Wf;fisf; nfhz;Ls;sJ. 
 4)igw;W vd;gJ 8 gpw;Wf;fisf; nfhz;Ls;sJ. 
  1)  1>3   2) 1>4   3) 2>3   4) 2>4 
 

 

  tyaf;fy;tp mYtyfk;> njd;kuhl;rp 

  jfty; njhlu;ghly; njhopy;El;gtpay;-2020 

myFg; guPl;ir 2      juk; 11       Neuk; 1 kzp.           



 13) gpd;tUk; vz; Kiwikfspy; vjpy; vz; ”800” xU nry;Ygbahd vz;zhFk;? 
 1) gjpd;kk; khj;jpuk;   2) gjpd;kKk; gjpdWkKk; khj;jpuk; 
 3) gjpd;kKk; vz;kKk; khj;jpuk; 4) vz;kk; khj;jpuk; 
 
 14) gpd;tUtdtw;Ws; vJ xU nluhigw;Wf;Fr; (TB) mz;zsthfr; rktYthdJ 
 1) 1x106 MB  2) 1x106 GB  3) 1x106 KB  4) 1x106 Bytes 

 

  15) gpd;tUtdtw;Ws; vJ kpfr; rpwpa ngWkhdj;ij cilaJ? 
 1) 4510   2) 110002  3) 378   4)  1A16 

 

  16)  xU guPl;irapy; jifikiag; ngWtjw;F guPl;rhu;j;jpfs; xU fl;lha ghlk; S1 ,Yk;   
S2,S3,S4 Mfpa tpUg;Gg; ghlq;fspy; VNjDk; xd;wpYk; rpj;jpailjy; Ntz;Lk;. ,j; 
Njhw;wg;ghl;il gpd;tUk; G+ypad; Nfhitfspy; vJ rupahf tif Fwpf;fpd;wJ? 

 1) S1 AND (S2 AND S3 AND S4)  2) S1 AND (S2 OR S3 OR S4) 

 3) S1 OR (S2 AND S3 AND S4)  4) S1 OR (S2 OR S3 OR S4) 

 

17)  D=A.B+C vDk; G+ypad; Nfhitiaf; fUJf. gpd;tUtdtw;Ws; vJ rupahdJ? 
 1) C vg;ngWkhdj;ijf; nfhz;bUg;gpDk; A=0,B=1 vdpd; D=1 MFk; 
 2) B,C vg;ngWkhdj;ijf; nfhz;bUg;gpDk; A=1 vdpd; D=1 MFk; 
 3)  A,C vg;ngWkhdj;ijf; nfhz;bUg;gpDk; B=0 vdpd; D=0 MFk; 
 4) A,B vg;ngWkhdj;ijf; nfhz;bUg;gpDk; C=0 vdpd; D=1 MFk; 
 
 18) xU khztd; jdJ fhiy cztpw;fhf gUg;Gf; fwpAld; cz;gjw;F 

,bag;gj;ijNah>  ghizNah njupe;J vLf;fyhk; ,jid rupahf tif Fwpg;gJ. 
 1) AND I gpd; njhlu;e;J OR 2)  OR I gpd; njhlu;e;J AND 

 3) OR I gpd; njhlu;e;J OR 4) AND I gpd; njhlu;e;J AND 

 

19)   cz;ik  ml;ltizapy; gpd;tUk; G+ypad; njhlu;GfSs; vJ nka;AWjpg;gLfpd;wJ? 
  

A 1 output 

 0 1 1 

1 1 1 

 
 
20) A,B vd;Dk; ,U cs;sPLfisAk; tUtpisT F iaAk; cila xU Fwpj;j jUf;fg;  

gliyapd; nka;epiy ml;ltiz jug;gl;Ls;sJ. ,jw;Fr; rupahdJ 
 

A B C 

0 0 0 

0 1 0 

1 0 0 

1 1 1 

 
           
 
 
 
 
 
 
 
                                               (20x2=40Gs;spfs;) 
 

 

01)  A+A=A  02)  A.A=A 

03) A+0 =0  04)   A+1=1 

01)  OR  MFk; 
02)  AND  MFk;  
03)  NOR MFk; 
04)  NAND MFk;
  



 
 

gFjp-2 
 
01) 150 vd;w gjpd;k vz;iz Jtpj>vz;k>gjpdWk vz;zhf khw;Wf? (9Gs;spfs;) 
 
02) 11000111012 vd;w ,Uk vz;iz gjpd;k> vz;k>gjpdWk vz;zhf khw;Wf? (9Gs;spfs;) 
 
03) 4798 vd;w vz;k vz;iz gjpdWk vz;zhf khw;Wf? (3Gs;spfs;) 
 
04) A4B16vd;w gjpdWk vz;iz vz;k vz;zhf khw;Wf? (3Gs;spfs;) 
 
05) fzpdpapy; gad;gLj;jg;gLk; FwpKiwfisAk;> gadgLj;jg;gLk; gpw;Wfspd;  

vz;zpf;iffisAk; Fwpg;gpLf?     (6Gs;spfs;) 
 
06) AND, OR,  NOT,   NAND,   NOR Mfpa ju;f;fg; gliyfspw;fhd cz;ik  

ml;ltiz>ju;f;fr; Rw;wpid tiuf?      
 (10Gs;spfs;) 

 
07)  ABC+BC=F  vDk; G+ypad; Nfhitf;fhd  cz;ik ml;ltiz> ju;f;fr; Rw;wpid 

tiuf? 
(10Gs;spfs;) 

 
08)    gpd;tUk; ju;f;fr; Rw;Wf;fhd  G+ypad; Nfhitia vOjp mjw;fhd nka;epiy 

ml;ltizia jahupf;f         
          (10Gs;spfs;) 

 

 

 

 

 

A 

B 
C  


